
 
 
 
 
 
 
 
 
 

 
 

I.​ Choose the correct answer.​ (20 × 1 = 20) 
1.​ 4,65,720 rounded off to the nearest 1000 is ​ . 

 

a. 4,65,000 b. 4,66,000 

c. 4,66,700 d. 4,66,800 

2.​ The difference between 85,982 and 67,256 is ​ . 
 

a. 18,726 b. 18,276 

c. 18,762 d. 18,672 

The place value of 5 in 3,58,139 is  ​
 
 
 

3.​ . 
 

a. 500 b. 5000 

c. 50,000 d. 5,00,000 
 

4.​ The sum of 72,364 and 1,35,873 is __________ ​ . 
 

a. 28,237 b. 2,08,237 

c. 8,02,237 d. 2,08,327 

In numerals, ‘Four lakh six thousand eight’ can be written as _____

 
 
 

 

5.​ . 
 

a. 4,06,800          b. 46,008  

c. 4,06,080 d. 4,06,008  

 
 



 

6.​ The face value of 8 in 6,80,235 is ​ . 
a.​ 80,000​ b.     8000​  
c.​ 8​ d.​ 80 

7.​ The short form of 4,00,000 + 500 + 20 + 3 is ​ . 
a. 4,00,523 b.  4,05,230  

c. 40,523 d. 4523 
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8.​ The expanded form of 98,056 is ​ . 
a. 90,000 + 8000 + 50         b. 9000 + 50 + 6 
c. 90,000 + 8000 + 6            c. 90,000 + 8000 + 50 + 6 

9.​ The greatest number among 55,555; 54,545 and 4,45,554 is ____________. 
a.​ 55,555​ b.   54,545​  
c.​ 4,45,554​ d.​ None of these 

10.​ The smallest number among 70,777; 77,077 and 1,07,777 is ________.                  
a.    70,777                                  b.  77,077 

c.     1,07,777                             d. None of these 

11.​ The greatest number formed using the digits 1, 9, 4, 7 and 3 is 
______________.                                                                                             
a.    97,341                                  b.  97,431 

c.     97,134                                d. 13,479 

12.​ The smallest number formed using the digits 2, 8, 0, 4, 5 and 9 is 
______________.                                                                                             
a.    2,40,589                              b.  24,589 

c.     2,04,859                             d. 2,04,589 

13.​ 84,625 rounded off to the nearest 100 is ​ . 
 

a. 84,000 b. 85,000 

c. 84,600 d. 84,700 

14.​ In Hindu-Arabic numerals, DCXCIII can be written as ______________.                  
a.    693                                  b.  703 

c.     692                                d.  793 

15.​ In Roman numerals, 449 can be written as ______________.                  
a.    CDXXXXIX                         b.  CCCCXXXXIX 

c.     CDXLIX                             d.  CDLXIX 

16.​ The sum of 4,12,859 and 2,06,648 is __________________.                  
a.    6,19,507                              b.  6,09,507 

c.     6,19,607                             d. 6,18,507 

17.​ The difference between 9,06,471 and 5,52,749 is ______________.                  
a.    3,53,522                              b.  3,53,622 

c.     3,53,732                             d.  3,53,722 

18.​ The sum of 35,274; 1,63,097 and 4,52,506 is _______________.                  
a.    6,50,787                              b.  6,51,877 

c.     6,50,877                             d. 6,50,777 

19.​ 5,08,274 + _________ = 5,08,274.                                                                 
a.    5,08,274                                   b.  0 

 



c.     1                             d. 5,08,275  

20.​ 8,34,600  - ____ = 8,34,599.                                                                               
a.    1                                  b.  0 

c.     2                                d. 8,34,601 

 

II.​ Solve the following.​ ​ (2 × 2 = 4) 
 

1.​ L       TTh     Th    H     T      O 
3        2         7      0     6     9 

                                   +  4         6         8      9     5     7 
                                      ________________________ 
 

2.​     L        TTh       Th       H        T        O 
    9          0            4        7        2        1 
 - 5          4            8        3        7        3 
   ___________________________________   

 
 

III.​ Do as directed.​ (4 × 3 = 12) 

1.​ Find the place value and the face value of 4 in 4,05,872. 

Place value = _____________________ 

Face value = _____________________​  
2.​ Round off the following numbers to the nearest 1000. 

a.​ 89,745 ______________________ 

b.​ 7,87,499 _____________________ 

3.​ Form the greatest and the smallest 6-digit numbers using 3, 6, 0, 1, 9 and 5. 
The greatest number = _____________________ 
The smallest number = _____________________ 

4.​ Fill in the blanks. 
a.​ 45,098 + 20,486 = 20,486 + ____________ 
b.​ 10,000 – 1 = ______________ 

 
IV.​ Answer the following.​ (1 × 4 = 4) 

 

In a 15-day nature fest, there were 43,518 men, 31,624 women and 12,428 children. How 
many people attended the fest altogether? 

 


	I.​Choose the correct answer.​(20 × 1 = 20) 
	II.​Solve the following.​​(2 × 2 = 4) 
	III.​Do as directed.​(4 × 3 = 12) 
	IV.​Answer the following.​(1 × 4 = 4) 

